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AsTHEELIH T
(L2-F2E1g) X 2 (0.97-0.00) x 2 1.94
FTAI7ILE
SHEMBUET

(B9+B2). /2 X (L2-E2 2 E)

AEMFITEHE

It EHERELY
BHEFHEHIERL
1.50m
SEIKERTEWI
REFHIEHIEB/2
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223 & SR ¢ 200mm X 90°(ST) Rt EHERELY 1& SHEMEUET FRAI7ILE
SHET0.35m3#kB.H
TERT ¢ 200mm78 B SR EHELY ,%ﬂ AsERILS T =
1 t=10cmiz
. CR25-0
JL—VIREE @ 100mm L=4m m BREMHET
0.00 t=10cm
BT RAT7 IV
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(L=200m) (B8 )
1) H & H® 4. BWMHIT D4 (& . BEE) (#P26)
1.8 & 00mm 2. & B 2 EEES 3. BIEE  2.02m (D4) = 2.02 x 0.022 A/m/H = 0.04 B @
4. fEEIFE  BH-0.28 5. {EHIIE 0.95m 6. EEIZE 1.7 m 5. SHR=IEELI (D5) (4 # & I #5 5 ) (HHPIS)
7.+ B (&ML LFECYLD) 8. MYEE  202m BRELTE=202mx (1.71m— 1.416m x 0.95m= 0.56 m3
9. kSuhHL—Uikk 49 tRY (D5) = 0.56 m3 = 33.00 m3/H = 0.028 ®
BHELEL 2.02mL Y I i =
2) HETERS [ R 5 10 B
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(D2) = (0.18 = 10.00m) x 2.02 m = 0.04 B @ 0.02
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FHELER (m)
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SR A% (B
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12.0 t t t t t t t t t 0.8 t
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0.07 tyt tyb tyb tyb tyb by b By b tyb tyb & BN
BRIBFEDEE
= 12 t & =
EEe
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SRR & R S T
4 R HU - B - SHk 2R | om o=
AT 12. 50 12. 50 0
IR e ¢ 200 12. 05 12. 05 n
5 HEE T 400A 11.97 11.97 0
HEE P G 400A 1.0m 12 12 &
A ¢ 200 2.0m 7 7 &
W= po— | ©200 6 6
A 64000 X 200/ 7 T @
FE AT Lad LA s
PIATEAT. 0.99 0-99 43
SRS ek T VU ¢ 200 3. 000 3. 000 0
VU ¢ 200 3. 000 3. 000




HH# T H 2 A E sssoestiers
INOF#ETEERGAR
BeEIT T (BHHLH) BRARER| L1 |m
EEWEE 12 Im .450. [ 0.450
HHEER L3 m
3.000 1.050
1500 1.500
TTTTTTTTTTTTTTTTY T .
| i | i
[ ; [ = :
[ ; [ I o
| ! I
( ] . } o
N 1 R PP Lo
Q1 i k 2
| ! L\
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5 No.| 452-1-1 |15 YVh—)+7.50m
EEEIPRE S 1EANALELERERT
EEE#MFE VU | T AN VU$ 150
ERES| Arn-nds [ BRE BT E|H £|H# | 0200 h7— |ae5e:|400A | 400 x BEN |HATA RERET THTREGRER | INTEREERER 5 &
EER EIE E|B E|Z £(20/m| $200| ¢200(L=1.0m| 200 Et s 0.57m/%& (BEHBER) (EBER)
SEE[ZER| Lim) | m [L2m| m |[Lm| m | B | B | x | @ m3 m3 R EE IR s A
No. No.
(MH) | (MH)
452-1-1 459-2-1
459-1 | +7.50m 12.50 | 045 | 12.05| 053 | 11.97| 7 6 12 7 1.44 0.99 3.00 3.00 | 3.000 3.000 2.00
it 12.50 12.05 1197 ] 7 6 12 7 1.44 0.99 3.00 3.000
FAE A
( 0.3906 x 0.3906 — 0216 x 0216 ) X ;w/4x 100 = 0083 m3/m

WERNBLE

0.3906"2% 1t /4=

0.120

m3/m
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I # i1 G Totkhk | g4 | BRI

452-1-1+4.50m £

Ak W7 )N 3.0x20
BASSETRT H=4.50 m 3.00 3.00
BEEMXREIBET m 4.00 4.00
AT 18-8-40BB | m3 0.90 0.90
EHHT Vu ¢ 200 m 3.00 3.00
BT m3 25.64 25.6
H#HET REL m3 21.52 215
BiosT m3 1.73 1.7
BEMRT 7 m3 0.41 0.4
SR ASt=5cm m 9.80 9.8
SERBMET ASt=5cm m2 10.20 102
SR IRALIE m3 0.51 0.5
EET t=5cm m2 10.20 102
LERET M-40t=15cm | m2 6.00 6.0
TERET RC-40t=30cm | m2 6.00 6.0




MiRETL

NO. 452-1-1+450m % # I 1

H H Ha " = H =
BGAHBZLED IHFR 300 X 200 X H = 4323
AT H=45m 3.00 m
BRI H= 4.5m 3.00 m
TRHIE 4323 m
MTEME 3.00 X 2.00 6.00 m2
BEfXiR0NOR) %HE-HE FHAELRIE-Em|
2.00 X 2[H 400 m
S ERT
a9 —REBE t=150m 600 m2 X 0.15 0.90 m3
BEMFZXT (Vuo 200) 3.00

3.00 m




No. 452-1 3 IfERIFRERH

(x1.3)

I i HO® I EEH BIE g i K EHH | AEEK i
AT BHO0.60m3#k 217.00 m3/H|  25.64 m3 25.64 / 217.00 0.120 0.16
TBETAH H=4.50 0.03 B/m 30m 300 x 003 = 0.099 0.13
THEHT WY - R (EEED) 5.00
EHBET 1.00
HET & 400 7.60 m/H 11.97 m 1197 / 76 = 1.580 2.05
F—HBIREL & 400 2220 m/H 1197 m 1197 / 222 5 0.540 0.70
BEERATL ¢ 200 17.80 m/H 11.97 m 11.97 / 178 3 0.670 0.87
FAEAT 2.20 m3/H 0.99 m 099 / 22 = 0.450 0.59
L IaRniys 1.00
ERRT VU ¢ 200 0.02 B/m 3.00 m 300 X 0022 3 0.070 0.09
BERT 33.00 m*/H 041 m® 041 / 330 = 0.012 0.02
BRI O 3300 m*/H| 2152 m’ 2152 / 330 o 0.650 0.85
T ESIERE H=4.00 0.02 H/m 30m 300 x 002 = 0.060 0.08
aEtE% 12.54

12|58




HEIBHHDODERT 452-1 FRER  ssr1-som FEHEIIIT EHBENIT
MASOEAX/NORHETE(R)—FE—ILIE)
TSRAITVORT L
B # = 400A
WEE 100m - F6 EHEALI 6.8/09=76m/B theEHLY
ERES AABES | HEEZER g &F HiE&E " =
(m) (m/H)
452-1-1+7.50m
452-1 11.97 400A 7.6
- A—H—EIEKRE  IHES 300 m 20/09= 222m/BH _BEEHLY
EHRES AMBEE | HEEER g &F X E " =
(m) (m/H)
452-1-1+7.50m
452-1 11.97 400A 22.2
- IBEERAT ¢ 200mm 16/09= 178 m/H _#He&HLY
EHRES AMBEE | HEEER g &F X E " =
(m) (m/H8)
452-1-1+7.50m
452-1 11.97 @ 200mm 17.8
- FSAEAT 400A 2.2m3/H Tk
EHREE | UHNBE|HEER|EIAE | FEE % =
(m) (m3) (m3/8)
452-1-1+7.50m
452-1 11.97 0.99 2.2
- fEEIT BF 0.80 mi 217 _m3/H Tk
EHRES B S| EAHR HEILT=E | EE = 5 =
(m) (m3) (m3/8)
452-1-1+7.50m
452-1 4323 25.6 217.0
T BHT ETGAHT) EiRE 450 m 0.33m3/H/10m k&4
EHRES B S ZEE EE | F% 2 5 =
(m) (m) (m/H8)
452-1-1+7.50m
452-1 3.00 4.50 0.033
- EEEMET VU 200 H/m TKS
EHRBES (N AEBES EE EE-ER| X E " =
(m) (m) (m/H8)
452-1-1+7.50m
452-1 3.00 VU200 0.022
- TBHI (BIERET) EIRE 450 m 0.21m3/H/10m Tk
EHRES B S ZEE EhE | F% 2 5 =
(m) (m3) (m/H)
452-1-1+7.50m
452-1 3.00 450 m 0.021
- HRLT B 18— 33 m3/H Tk
EHRES B S BRI= | EFE = " =
(m3) (m3/8)
452-1-1+7.50m
452-1 21.50 33.0
SHEEERERT 1.0 =i
SIERT 5.0 H
BAEMT 1.0 =i
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